

RESOLUTION FOR DISPOSAL OF TOWN SURPLUS PROPERTY

WHEREAS, the Town Manager pursuant to N.C.G.S. 160A-266 (c) is authorized to dispose of any surplus personal property owned by the Town of Carrboro whenever he determines, in his discretion, that the property is no longer necessary for the conduct of public business; and, the item or group of items has a fair market value of less than thirty thousand dollars (\$30,000.00); and,

WHEREAS, the Town now has accumulated a number of vehicles and equipment that have been replaced by the acquisition of new vehicles and equipment; and,

WHEREAS, other personal property owned by the Town is no longer useable due to the wear and tear or obsolescence, such as Recreation and Parks athletic equipment, Police digital cameras, etc.; and,

WHEREAS, the Town Manager has determined that certain vehicles, equipment and other personal property no longer necessary for the conduct of Town business;

NOW THEREFORE, THE Board of Aldermen of the Town of Carrboro hereby resolves that:

1. The Town Manager is authorized to dispose of the surplus property listed in the attached Exhibit 1, and any other surplus property as the Town Manager may deem appropriate.
2. Town Manager is authorized to dispose of surplus property at a public auction to be conducted by Rogers Auctioneer, Inc. at the Public Works facility and grounds on November 16, 2019 beginning at 10:00 AM and ending at 5:00 PM.
3. The public auction shall be conducted by Rogers Auctioneer, Inc. or other licensed auctioneer retained on contract by the Town Manager.
4. The terms of the public auction sale shall be as follows:
 - a. to the highest bidder;
 - b. items specifying a minimum bid price shall be to the highest bidder equaling or exceeding the established minimum;
 - c. all sales shall be designated final on the day of the auction; and
 - d. all items shall be sold on an "as is" and "where is" basis and the Town makes no guarantee of merchantability or any other implied or express warranty and assumes no responsibility for any of the items.
5. Any items remaining after the public auction may, at the Town Manager's discretion, be offered for sale online at www.govdeals.com or other online bidding site(s); or the Town Manager may retain the property, obtain any reasonably available salvage value, or cause it to be disposed of as waste material.

6. Advertisement of all public and online auctions are to be posted to the Town of Carrboro website prior to the date(s) of the auction.
7. This resolution is effective immediately and shall remain in effect through the fiscal year ending June 30, 2020.

Town of Carrboro Personal Property Declared Surplus for Disposal

(Note: This list is not final and may be modified by the Town Manager at his discretion prior to public auction.)

SURPLUS VEHICLES AND EQUIPMENT

MAKE	MODEL	VIN/SER#	EST. VALUE
Epoke	Salt Spreader	13010212	\$500.00
045 Case	Case 685 tractor	3021176	\$2,500.00
OMC-Lincoln	Airrator	135123	\$350.00
Kodiak	Bush Hog	N/A	\$250.00
Billy Goat Ind.	Leaf vaccum	N/A	\$150.00
Gandy	Area-vator seeder	86215	\$250.00
067 LeeBoy	LPG Tar Kettle	KEB-115	\$250.00
Toro STI	Top Dresser	144501-70121	\$250.00
021 ODB Leaf Vac	LCT 600	0106-4296	\$500.00
ODB Leaf Box	14.5 Leaf box	N/A	\$1,000.00
601 Toro	GM3280-D	30345-260000450	\$450.00
801 Freightliner	Condor	5SXHANCYX7RZ22109	\$5,000.00
Large white seeder fertilizer	N/A	N/A	\$150.00
004 Ford	Taurus	1FAFP53U64A179927	\$1,131.00
222 Chevrolet	Impala	2G1WS55R97269454	\$2,382.00
223 Chevrolet	Impala	2G1WS55R379273676	\$1,038.00
232 Dodge	Avenger	1B3LC46R38N220329	\$1,848.00
250 Chevrolet	Malibu	1G11C5SA3DF258359	\$4,924.00
Old #33 Monroe	Snow Plow	11'-10"	\$1,800.00
Old #502 Monroe	Snow Plow	08-02-1008 10'-10"	\$1,200.00
068 Sullair	185 compressor	004-137106	\$2,000.00
		TOTAL	<u>\$27,923.00</u>

RECREATION AND PARKS SURPLUS EQUIPMENT

ITEM	QUANTITY	PURCHASE PRICE (EA)	TOTAL	EST VALUE (EA)	TOTAL
Field Hockey Helmet – Bauer	11	\$ 60	\$ 660.00	\$ 5.00	\$ 55.00
Field Hockey Helmet – Cooper	2	\$ 60	\$ 120.00	\$ 5.00	\$ 10.00
Field Hockey Sticks	27	\$ 20	\$ 540.00	\$ 5.00	\$ 135.00
Field Hockey Leg Guards	3	\$ 100	\$ 300.00	\$ 5.00	\$ 15.00
Field Hockey Girdle	4	\$ 56	\$ 224.00	\$ 2.00	\$ 8.00
Field Hockey Padded Pants	6	\$ 80	\$ 480.00	\$ 2.00	\$ 12.00
Field Hockey Kickers (shoes)	6	\$ 60	\$ 360.00	\$ 2.00	\$ 12.00
Field Hockey Chest Protector	15	\$ 37	\$ 555.00	\$ 2.00	\$ 30.00
Portable Backboard Rim Combo	5	\$ 400	\$ 2,000.00	\$ 50.00	\$ 250.00
Basketballs	78	\$ 30	\$ 2,340.00	\$ 10.00	\$ 780.00
Volleyballs	1	\$ 24	\$ 24.00	\$ 5.00	\$ 5.00
Standard style T-shirts (wording & colors change)	153	\$ 7	\$ 1,071.00	\$ 1.00	\$ 153.00
Tank top style t-shirts (wording & colors change)	82	\$ 7	\$ 574.00	\$ 1.00	\$ 82.00
Chest Protectors Rawlings LL8p-1 (ages 9-12)	17	\$ 24	\$ 408.00	\$ 10.00	\$ 170.00
Chest Protectors Rawlings 6P (ages 5-7)	5	\$ 20	\$ 100.00	\$ 5.00	\$ 25.00
Chest Protectors Rawlings 6P (ages 5-7)	13	\$ 20	\$ 260.00	\$ 5.00	\$ 65.00
Rawlings Adult ULG pro Shin Guards	1	\$ 30	\$ 30.00	\$ 10.00	\$ 10.00
Batting Helmet	229	\$ 14	\$ 3,206.00	\$ 5.00	\$ 1,145.00
Catcher's Mask	5	\$ 50	\$ 250.00	\$ 20.00	\$ 100.00
Face Mask (Umpire)	1	\$ 20	\$ 20.00	\$ 5.00	\$ 5.00
Catcher's Mitt	1	\$ 35	\$ 35.00	\$ 10.00	\$ 10.00
Bat Donut	1	\$ 7	\$ 7.00	\$ 2.00	\$ 2.00
Fastpitch Girls Softball Bat	1	\$ 15	\$ 15.00	\$ 5.00	\$ 5.00
Batting Helmet Face Shields	48	\$ 10	\$ 480.00	\$ 2.00	\$ 96.00
Equipment Bags	23	\$ 60	\$ 1,380.00	\$ 15.00	\$ 345.00
Compression Shorts- Rawlings	6	\$ 15	\$ 90.00	\$ 2.00	\$ 12.00
Mizuno Chipper Jones Baseball Glove (small)=1	1	\$ 2	\$ 2.00	\$ 0.25	\$ 0.25
Mesh bag (white)	1	\$ 2	\$ 2.00	\$ 2.00	\$ 2.00
Gray Pinstripe-Allenson youth XL BB Pants	1	\$ 15	\$ 15.00	\$ 2.00	\$ 2.00
Gray Pinstripe-Augusta youth XL =2	2	\$ 15	\$ 30.00	\$ 2.00	\$ 4.00
White Pinstripe-Augusta youth XL	1	\$ 15	\$ 15.00	\$ 2.00	\$ 2.00
Solid Gray-Russell-size	1	\$ 15	\$ 15.00	\$ 2.00	\$ 2.00
White-Nike youth XL	1	\$ 15	\$ 15.00	\$ 2.00	\$ 2.00
Rawlings	1	\$ 15	\$ 15.00	\$ 2.00	\$ 2.00
Baseball Caps	39	\$ 5	\$ 195.00	\$ 1.00	\$ 39.00
			\$ 15,833.00		\$ 3,592.25